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4a A

2a

Figure 1

A letter P from a shop sign is modelled as a uniform plane lamina which consists
of a rectangular lamina, OABDE, joined to a semicircular lamina, BCD, along its
diameter BD.

OA =ED =a, AB = 2a, OE = 4a, and the diameter BD = 2a, as shown in Figure 1

Using the model,
(@) find, in terms of 7 and a, the distance of the centre of mass of the letter P,

from (i) OE

(ii) OA

The letter P is freely suspended from O and hangs in equilibrium. The angle between
OE and the downward vertical is a.
Using the model,

(b) find the exact value of tan a

(6)

(2)
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PMT!

SLRRK
LR
Joteotetess

%
::oto’o‘
<
}
o

v
'
[
v
SIS

KGRI A
R ISAN
CTRIL
LA
sravededs
e

J
o’

06
XL
Patee!
ETH
Lot

%
%
f‘
S
030

Ca
>4
IS

R
™1 %7
’ \J-
02019

NSt tete
e

QG ICIIIIIIIHHIIIIAIA

05
505K
X %
et
2!

ERLEIKLIKLAL
K RCIKIERIIKIE LI R IR IIRIK KK

R RAIR KKK RLR LK KKAR

o:e 0
%o TN
KIS
PNz 9%
SCPRR




6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
253

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

2
?§§§§ SO N
ORI ALIENY

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Question 1 continued

P 6 6 8 0 5 A 0 3 3 2

3

Turn over »

PMT



Question 1 continued
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(Total for Question 1 is 8 marks)
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2. Attimet=0, asmall stone P of mass m is released from rest and falls vertically
through the air. At time t, the speed of P is v and the resistance to the motion of P from
the air is modelled as a force of magnitude kv?, where k is a constant.

(@) Show that t= Lln Vv

where v?="&
2g \V —v k

(b) Give an interpretation of the value of V, justifying your answer.
At time t, P has fallen a distance s.

L/Z L’Z
= —In| —
(c) Show that s 22\ o

(4)

(2)

(4)

P 6 6 8 0 5 A 0 6 3 2
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Question 2 continued
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10

Figure 2

A uniform solid hemisphere H has radius 2a. A solid hemisphere of radius a is removed
from the hemisphere H to form a bowl. The plane faces of the hemispheres coincide
and the centres of the two hemispheres coincide at the point O, as shown in Figure 2.

The centre of mass of the bowl is at the point G.

45a
(@) Show that OG = 6

Figure 3 below shows a cross-section of the bowl which is resting in equilibrium with
a point P on its curved surface in contact with a rough plane. The plane is inclined to
the horizontal at an angle o and is sufficiently rough to prevent the bowl! from slipping.
The line OG is horizontal and the points O, G and P lie in a vertical plane which passes
through a line of greatest slope of the inclined plane.

Figure 3

(b) Find the size of a, giving your answer in degrees to 3 significant figures.

P 6 6 8 0 5 A 01 0 3 2

(4)

(2)
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Question 3 continued
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Figure 4

One end of a light inextensible string of length 2l is attached to a fixed point A.

A small smooth ring R of mass m is threaded on the string and the other end of the
string is attached to a fixed point B. The point B is vertically below A, with AB = 1.
The ring is then made to move with constant speed V in a horizontal circle with
centre B. The string is taut and BR is horizontal, as shown in Figure 4.

31
(@) Show that BR = 1

Given that air resistance is negligible,

(b) find, in terms of m and g, the tension in the string,

(c) find Vin terms of g and I.

(2)

(4)

(4)
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Question 4 continued
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5. A light inextensible string of length a has one end attached to a fixed point O. The
other end of the string is attached to a small stone of mass m. The stone is held with the
string taut and horizontal. The stone is then projected vertically upwards with speed U.

The stone is modelled as a particle and air resistance is modelled as being negligible.
Assuming that the string does not break, use the model to
(a) find the least value of U so that the stone will move in complete vertical circles.

. . . S 11
The string will break if the tension in it is equal to %

Given that U = 2\/@, use the model to

(b) find the total angle that the string has turned through, from when the stone is
projected vertically upwards, to when the string breaks,

(c) find the magnitude of the acceleration of the stone at the instant just before the
string breaks.

(6)

(6)

(4)

18

P 6 6 8 0 5 A 01 8 3 2

PMT!

SXRIS

5
oot
=8
S
Foos
oS

R
[T4Y
SN
SRR

e oot ot teteteototetetetetetetoted

555
N
b

IR IR

2R,
55
%
KL
5

IS,
oSt otetetetetotetetetototetotetoteteds.

K

25
IR
SRRALES

CHXRAL
B0 o

bo%ex
e
S,




6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
253

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Question 5 continued

P 6 6 8 0 5 A 01 9 3 2

19

Turn over »

PMT



Question 5 continued

20

P 6 6 8 0 5 A0 2 0 3 2

PMT!

HRRK
R
SRR
ALK

006
555
o
s
ORI

O
<
‘Qee
555

%
i )%
%9

5
o
X
%o
S0t

KRR IHR

”
b

%

KERRLEARLKEARRLEK

S

GEIRRLEEIREEIRLEY

X
X
X >
0
SIS

ORI

0505
CRKLES

<
58
K

K
PeSolannte%s
DoSecozeio%
SO0 0t
o0 05

QK
s 108
<A o%
S5
P
DoSe? o7t
<AL
2

SRR
(90950509
o



6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

CHAHAA
KERLRLSS
,:‘A»’ o

NSE %
b

S8

RRKS
boes
CKKS

G5
<

%

5

<
55

%
388
[

-
X
%

IR
S

X
oleteds

e

T

209,

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

<
S
S
X
029
8K

S
0
L5
P
5
%

¢
RES
A X KA
RS
A

!
IRKK

%
%

]

o4
%%

KKK

by

bt ?3
S
S
Boss o

Y
&)
‘;.‘.0

FANKIS
R HKIIRILHRKK

0ot
b
Bo%y

9 9
< < 3
X

QAR
:’0’00000
253

(o
58
K
e
%%

<5

%
¢S
2K

S
SRR
000000
LIRS

00
558
joleresessses
DaSetole
hoses
55
RRRILLLAKLEEEE

RRELRS
SEKRRLRR
SRS
QLXK
et

<
o

&
5

SR
%

5

2o

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Question 5 continued

(Total for Question 5 is 16 marks)
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6. A light elastic string, of natural length | and modulus of elasticity 2mg, has one end
attached to a fixed point A and the other end attached to a particle P of mass m. The

particle P hangs in equilibrium at the point O.

31
(@) Show that AO = >

The particle P is pulled down vertically from O to the point B, where OB = |, and
released from rest.

Air resistance is modelled as being negligible.
Using the model,

(b) prove that P begins to move with simple harmonic motion about O with

period 7 2!

g

The particle P first comes to instantaneous rest at the point C.
Using the model,
(c) find the length BC in terms of |,

(d) find, in terms of | and g, the exact time it takes P to move directly from B to C.

(2)

()

(4)

()
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7.

[In this question, you may assume that the centre of mass of a circular arc, radius r, with

rsina
angle at centre 2a, is a distance Tu from the centre.]

A

Figure 5

A thin non-uniform metal plate is in the shape of a sector OAB of a circle with centre O and

T

radius a. The angle AOB = 58 shown in Figure 5.

The plate is modelled as a non-uniform lamina.

The mass per unit area of the lamina, at any point P of the lamina, is modelled as

4
k(OP)?, where k = —~ and / isaconstant.

Using the model,

(@) find the mass of the plate in terms of 1,

(b) find, in terms of a, the distance of the centre of mass of the plate from O.

()

(4)
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Question 7 continued

(Total for Question 7 is 9 marks)
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